Chapter 7 – The Functional Level of Industrial Relations
True/False
[QUESTION]
1. Though environmental factors strongly influence the strength of unions, they rarely shape the parties' power and preferences in the organizing process.
Ans: False
Page: 155
Difficulty: Easy
[QUESTION]
2. Duly certified representatives can represent employees only if they win employee votes through the election process.
Ans: False
Page: 155
Difficulty: Medium
[QUESTION]

3. In order for the NLRB to schedule an election, at least 30 percent of the election unit must have signed authorization cards.
Ans: True
Page: 155
Difficulty: Easy
[QUESTION]
4. The federal courts have stated that firms who face organizing campaigns may not relocate their production facilities.
Ans: False
Page: 158
Difficulty: Medium
[QUESTION]
5. Management is allowed to hold "captive audience" speeches up till 24 hours before the vote. 
Ans: True
Page: 159
Difficulty: Easy
[QUESTION]
6. Although the NLRB has been willing to group craft workers and industrial workers in a single bargaining unit, it has not been willing to put professionals in the same bargaining unit as industrial workers.

Ans: True
Page: 163
Difficulty: Hard
[QUESTION]
7. Though the composition of the bargaining unit is decided by the NLRB, the election unit is decided by the federal courts. 

Ans: False
Page: 163
Difficulty: Medium
[QUESTION]

8. The percent of representation elections won by unions has risen since 1996. 

Ans: True

Page: 163

Difficulty: Medium
[QUESTION]

9. To increase union density, American unions have generally focused on reorganizing the manufacturing sector, the sector most affected by membership loss during the 1970s and 1980s. 

Ans: False

Page: 163 

Difficulty: Medium

[QUESTION]
10. To decide whether firms have bargained in good faith, the NLRB requires evidence that the parties have reached agreement.

Ans: False
Page: 166
Difficulty: Medium
[QUESTION]
11. A study done by Getman, Goldberg, and Herman have found that election outcomes are rarely affected by illegal campaign tactics by employers or unions.

Ans: True
Page: 166
Difficulty: Easy
[QUESTION]

12. Corporate campaigns involve a variety of management efforts to bring public, financial, and political pressures to bear on top management. 

Ans: False
Page: 168
Difficulty: Easy
[QUESTION]

13. By recognizing a union through card checks instead of a representation election, management may create a positive and cooperative union-management relationship.

Ans: True

Page: 171-172

Difficulty: Easy
[QUESTION]
14. During the 1940's and 1950's, employers usually adopted either voluntary recognition or maintained neutrality during election campaigns. 

Ans: True
Page: 172
Difficulty: Easy
[QUESTION]
15. Bargaining structure refers to the scope of the employees and employers covered or affected by the bargaining agreement. 

Ans: True
Page: 177
Difficulty: Easy
[QUESTION]

16. One dilemma for unions currently is how to retain members who may change jobs frequently throughout their careers.
Ans: True

Page: 177

Difficulty: Medium

[QUESTION]
17. Compared to other countries, bargaining structures in the United States are highly centralized.
Ans: False
Page: 178
Difficulty: Medium
[QUESTION]

18. Even where there are centralized bargaining structures, many labor-management issues are settled at the local level. 

Ans: True

Page: 180

Difficulty: Medium
[QUESTION]
19. A centralized bargaining structure can only help the union. 

Ans: False
Page: 180
Difficulty: Easy
[QUESTION]
20. Pattern bargaining occurs as a result of spreading the terms and conditions of employment negotiated in one formal bargaining structure to another in a formal manner. 

Ans: False

Page: 184
Difficulty: Medium
[QUESTION]
21. Interindustry wage imitation is stronger now than it ever was. 

Ans: 185

Page: False
Difficulty: Easy
[QUESTION]
22. According to the text, pattern bargaining across firms in the same industry is the most common form of pattern bargaining in the United States.

Ans: True
Page: 185
Difficulty: Medium
[QUESTION]
23. One result of deregulation was the increased entry of nonunion firms.

Ans: True
Page: 187
Difficulty: Easy
Multiple Choice
[QUESTION]

24. Evidence suggests that, for workers to express a preference for unionizing, they must

A. believe that unions can help improve job conditions.

B. overcome the negative image of unions held by union members across the country.

C. be satisfied with the current decision making processes in their firm.

D. develop social and community ideals.

Ans: A
Page: 156
Difficulty: Easy
[QUESTION]

25. According to Freeman and Rogers a factor that effects employees’ decision to unionize is:

A. confidence in the management.

B. confidence in the union.

C. trust in the union.

D. employees feeling as to whether the union will treat them fairly

Ans: A

Page: 157

Difficulty: Medium
[QUESTION]

26. Which of the following action(s) can management undertake prior to organizing in order to reduce the incentives to unionize?

A. Invest less in training and development and more in managerial occupations.

B. Layoff employees to serve as a threat.

C. Develop wage system that recognizes only merit.

D. Develop a complaint procedure.

E. Centralize managerial decision making.

Ans: D
Page: 158
Difficulty: Medium
[QUESTION]

27. During the election campaign, which of the following is management allowed to do by law?

A. During the election campaign, employer A tells his employees, "If you vote for the union, then I will close this plant down."

B. Throughout the election campaign, employer B tells his employees, "If you reject the union, then I will guarantee Christmas bonuses every year."

C. Throughout the election campaign, employer C tells his employees, "If you vote for the union, then I will not offer any more raises."

D. During the election campaign, employer tells his employees, "Our competitors have gone down because of unionization. We can also close down since we are in the same line of business as our competitors if you vote for the union."

E. all of the above.

Ans: D
Page: 159 

Difficulty: Hard
[QUESTION]

28. When defining the election unit the NLRB can do which of the following?

A. Choose between a craft or industrial election unit structure.

B. Choose between employees at one plant or multiple plants.

C. Choose who functions as supervisors or managers. 

D. Choose which industries are involved in the election unit structure.

E. a, b, and c.

Ans: E
Page: 162
Difficulty: Easy
[QUESTION]

29. When deciding the appropriate election unit the NLRB does not consider which of the following?

A. The chances of the union winning the election.

B. History of bargaining in the company.

C. Community of interests among the employees.

D. The need to provide sufficient freedom to skilled workers.

E. c and d.

Ans: A
Page: 163
Difficulty: Medium
[QUESTION]

30. Research has shown that

A. workers are more inclined to vote for the union if the employer delays the election.

B. firms with cooperative labor relations are more likely to commit unfair labor practices during election campaigns in order to stay nonunion.

C. illegal employer behavior during the election campaign reduces the possibility that a first contract will be settled.

D. firms with a past history of violent labor relations will be more likely to cooperate with unions because of the penalties that can be imposed by the NLRB.

E. all of the above.

Ans: C
Page: 166
Difficulty: Hard
[QUESTION]

31. The NLRB tries to establish an election environment free of coercion and misinformation. Such an environment is labeled as

A. election conditions.

B. uncoercive conditions.

C. free environment.

D. laboratory conditions.

Ans: D
Page: 167
Difficulty: Easy
[QUESTION]

32. The Dunlop Commission recommendations were:

A. successful at overcoming employer-caused delays in representation elections.

B. successful in limiting the use of replacement workers.

C. successful in providing stronger remedies for victims of unfair labor practices.

D. all of the above

E. none of the above

Ans: E

Page: 167&169

Difficulty: Hard
[QUESTION]
33. Which of the following recommendations have been made by advocates of labor law reform?

A. Strengthen the penalties imposed on employers who commit unlawful behavior during election campaigns.

B. Provide unions with the same amount of access to employees as management.

C. Conduct slower election processes so that unions can be given more time to convince the employees.

D. Eliminate the ability of employers to permanently replace strikers.

E. a, b, and d.

Ans: E
Page: 169
Difficulty: Medium
[QUESTION]

34. The non-traditional union organizing tactics used by the Justice for Janitors Campaign were:

A. to organize on a multiemployer basis.

B. to induce employers to voluntarily recognize the union.

C. to use alliances with community groups.

D. a & b.

E. all of the above.

Ans: E

Page: 169

Difficulty: Medium
[QUESTION]

35. Which of the following statements correctly describes the AFL-CIO Organizing Institute?

A. It is a tool of the National Association of Manufacturers that teaches employers how to prevent unionization.

B. It is a tool of the NLRB that helps union organizers to effectively recruit new members.

C. It is a part of the AFL-CIO that helps educate young inexperienced organizers.

D. It is a tool of the National Association of Arbitrators which helps unions find organizers for election campaigns.

Ans: C
Page: 171
Difficulty: Medium
[QUESTION]

36. Which of the following a union renewal tactic?

A. Organizing without relying on traditional NLRB procedures.

B. Combating illegal employer opposition tactics by committing ULPs as well.

C. Putting pressure on the national government to change labor law.

D. Petitioning employers to adopt neutral or pro-union stances.

Ans: A

Page: 174

Difficulty: Easy
[QUESTION]

37. Which of the following is true about multi-employer bargaining?

A. Most are found in the construction, longshoring, hotel, and hospital industries.

B. Most are found in occupations such as police, fire fighters, railroad workers, and airline pilots.

C. It is an example of employer decentralization in bargaining.

D. It helps increase competition that is strictly based on labor costs.

Ans: A
Page: 179
Difficulty: Easy
[QUESTION]

38. What historically led to greater centralization in bargaining structures?

A. Increased international competition.

B. The growth of large corporations.

C. Increased power struggles across different union leaders.

D. all of the above. 
Ans: B
Page: 181
Difficulty: Medium
[QUESTION]

39. One of the main functions of the AFL-CIO’s Industrial Union Department is to

A. help organize industrial workers rather than craft workers.

B. provide management with information concerning the working conditions of its workers so that it can come up with realistic proposals for bargaining.

C. help coordinate bargaining in settings where no single union dominates.

D. assist the NLRB with cases of unfair labor practices by employers.

Ans: C

Page: 182

Difficulty: Medium

[QUESTION]

40. Which of the following is true about pattern bargaining?

A. It prevents equity among workers.

B. It increases the number of strikes since chances of settlement are low.

C. It helps take wages out of competition.

D. It is one part of the "Spring Wage Offensive" in the United States.

Ans: C

Page: 184

Difficulty: Medium
[QUESTION]

41. Fractional bargaining is best defined as

A. bargaining that takes place between management and each individual faction within one single union.

B. bargaining that takes place between management and each individual union within the company.

C. informal bargaining that takes place within the union itself because of diverse political interests.

D. informal bargaining that takes place between individual supervisors and workers or work groups.

Ans: D

Page: 184

Difficulty: Medium
[QUESTION]

42. In the 1980's, the telephone industry was heavily affected by which of the following?

A. Organizational factors.

B. Deregulation public policies.

C. Union growth.

D. Increases in union bargaining power. 

E. c and d.

Ans: B
Page: 187
Difficulty: Hard
[QUESTION]

43. Which of the following effects did deregulation exert on bargaining structures in the United States?

A. Because of increased competition, unions were able to centralize their bargaining structures which led to the increased centralization in the whole economy.

B. Because unions were able to successfully organize the new firms, they were able to stabilize price competition which led to centralized bargaining structures.

C. Because employers were weak in preventing unionization, unions were able to decentralize bargaining structures, which gave them more bargaining leverage.

D. Because of intense price competition, unions could not prevent decentralization in bargaining structures.

Ans: D
Page: 187
Difficulty: Hard
[QUESTION]

44. In the 1980's in the coal and trucking industries

A. decentralization led more employees to be covered by multi employer contracts.
B. the number of firms in these industries have increased dramatically as a result of decentralization in bargaining structures.

C. master agreements similar to those in other industries gained popularity as unions tried to regain the strength lost in earlier periods.

D. fewer employees became covered by multi-company ("industry") contracts.

Ans: D
Page: 187
Difficulty: Hard
[QUESTION]

45. One important result of the 1989 NYNEX strike was that

A. the unions were able to get higher wages while the rest of the industry was receiving wage cuts.

B. internal differences within unions prevented workers from achieving higher gains from the employer.

C. unions were able to coordinate their settlement terms by preventing the employer from bargaining separate contracts.

D. unions lost influence with the rank and file as evidenced by their refusal to ratify the contract settlement negotiated by management and the union.

Ans: C
Page: 187
Difficulty: Hard
[QUESTION]

46. Which of the following statements is true concerning recent bargaining?

A. Pattern bargaining has become more significant than it was in prior periods.

B. There is greater variability in recent collective bargaining settlements both within industries and across different locations within the same firm.

C. Pattern bargaining has prevented union gains from disappearing while other types of bargaining were responsible for union concessions.

D. Pattern bargaining has prevented employers from taking advantage of small unions.

Ans: B

Page: 188

Difficulty: Easy
Short Questions and Answer Key

[QUESTION]
47. What does the term “laboratory conditions” refer to?

Ans:
The term laboratory conditions refers to the stated objective of the NLRA to allow employees to exercise free and open choice in deciding whether or not to vote in favor of union representation during a representation election. Various administrative rulings of the NLRB outline when such conditions prevail although there is some inherent ambiguity in this concept.

Page: 167
Difficulty: Easy
[QUESTION]
48. What distinguishes a “rank and file” organizing strategy from a more traditional approach to organizing?

Ans:


A rank and file organizing campaign relies more heavily on in-house organizers drawn from the workforce rather than professional organizers sent in by the national union. In addition, rank and file campaigns tend to focus on workplace issues such as equal rights and child care concerns rather than just on traditional bread and butter issues. Furthermore, these campaigns often link to community groups and churches for support. There is more direct contact with the employees in these campaigns and less use of mailings, flyers, and impersonal communication.

Page: 171
Difficulty: Medium
[QUESTION]
49. What is a card check union recognition procedure and how does it work?

Ans:
Card check recognition is a procedure whereby a union gains representation rights by showing that at least 50% of the workers in the proposed bargaining unit have signed union authorization cards. This procedure avoids the need for a representation election and arises where the employer has voluntarily agreed to it.

Page: 172-173
Difficulty: Hard
[QUESTION]
50. Under what conditions would management bargainers favor a centralized (multiemployer) bargaining structure? Provide an example of such a case.

Ans:
There are two kinds of situations, either one is a good answer:

A. Managers of small firms in highly competitive industries, and particularly those facing large unions that have substantial resources, find that centralized bargaining can prevent the union from whipsawing them (i.e. avoid being played off against one another). The example of this situation is the apparel industry. Garment firms often favored centralized bargaining to neutralize the strong influence of the ILGWU or ACTWU, unions that otherwise whipsawed these small firms into following high pattern settlements.

B. Another case is where large firms favor centralized bargaining as a device to further cartelize (i.e. oligopolize) the industry and force smaller firms to meet the terms of high settlements, which often drives these small firms out of business or at least pay higher wages than they would have otherwise, to the advantage of the large firms. Examples of this are the coal (mining), trucking, or steel industries.

Page: 179

Difficulty: Medium
Essay Exam Questions and Answer Key

[QUESTION]

51. Suppose I gave you the following kinds of data.  The data come from interviews conducted with employees before and after these employees voted in union representation elections.  The data are from employees who voted in 100 different representation elections.  The data include:

A.  The demographic characteristics of the employees such as their race, sex and age;

B.  Responses to questions asking the employees about their attitudes toward unions (such as whether they think unions in general benefit society, and whether they think most union leaders are corrupt);

C.  Responses to questions asking the employees their attitudes toward their employer (such as whether they feel satisfied by their pay, and how they feel towards their supervisor);

D.  The employees' voting intentions--for or against union representation. This was asked one month prior to the election; and

E.  The employees' actual vote--for or against union representation. This was asked right after the representation election.

How could you use these data to understand why unions have been doing so poorly recently in representation elections?

Suggested Answer: 

Student answers may vary. Students can use the following information as a guideline while constructing their answer. The data obtained is useful in understanding why unions have been doing so poorly recently in representation elections. 
Union membership levels do vary according to demographic characteristics such as their age, sex, and race. Unions may bear some of the blame for their organizing difficulties and decline. One argument along these lines is that American unions have suffered from corruption and sluggish adaptation to changing times. 

Evidence shows that for workers to express a preference for unionizing they must (1) be

deeply dissatisfied with their current job and employment conditions, (2) believe that unionization can be helpful in improving those job conditions, and (3) be willing to overcome the generally negative stereotype of unions held by the population as a whole. 

Management campaign practices also have an impact on the election process. Management often tries to design personnel and other corporate policies far in advance of any representation election to dissuade employees from favoring union representation. This might also alter the employee’s initial voting thereby affecting the actual vote--for or against union representation.  
Page: 156-158

Difficulty: Medium

[QUESTION]

52. Plants A and B both manufacture refrigerators and are located in the same state.  The plants, however, are owned by different companies, Company A and Company B.  Plant A is the only plant in Company A that manufactures refrigerators while in Company B there are a number of plants manufacturing refrigerators (including Plant B). Unionized employees in both plants are currently bargaining over a labor contract with the management of their respective companies. In what situations would the employees in Plant B have more bargaining power than employees in Plant A?

Suggested Answer: 
Student answers may vary. Employees at Plant B may have more bargaining power if the bargaining function is not consolidated. The union may negotiate a bargain at one plant in Company B and then puts pressure on the next plant to equal or surpass the contract terms just negotiated at the first site. 
If the benefits, safety conditions and overall job satisfaction of workers attached to Plant B are lower than other plants in Company B, they would definitely be in a position of higher bargaining power. Considering a situation where Plant B’s manufacturing quality is higher or equal to other plants attached to Company B, the management will not want to lose out on the profits, and higher productivity. From the management’s perspective a fair bargaining situation would be met for workers at Plant B. Government regulations may additionally dictate equal employment opportunities, and working conditions, which would further improve Plant B workers’ bargaining power.

Page: 179, 180
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[QUESTION]

53. In most bargaining situations the union prefers one bargaining structure while management prefers another.  But in some cases the union and management prefer the same bargaining structure. Give two examples of cases where a union and management prefer the same bargaining structure. For each case describe what factors led to this convergence of interests.  Then describe why these cases are unusual.  Here you should describe why in most cases a union's preferred bargaining structure is different than the bargaining structure preferred by management.

Suggested Answer: 

Student answers may vary. Students may use the case of the apparel industry as a guide to construct their answers. The case in which an employer gains from centralized bargaining is well illustrated by the apparel industry. Employers have come to depend on the stability the apparel unions historically provided to their highly competitive industry. Labor costs are a significant component of total costs to the many small firms in the industry, and unionized employers are receptive to the wage standardization imposed by the union. Wage standardization ensures that competition across firms does not depend on their ability to gain low labor costs. The union representing apparel workers likes the centralized employer bargaining structure as this structure helps the union take wages out of competition.
Pages: 180-181
Difficulty: Medium

[QUESTION]

54. What legal, economic or other factors explain why multi-employer bargaining is so infrequent in the United States?

Suggested Answer: 

Students can use the following information as a guideline while constructing their answers. A highly centralized bargaining structure covers all the plants of a number of companies with the same collective bargaining agreement. Multiemployer bargaining units are relatively rare in the United States. To achieve a high degree of employer centralization in the bargaining structure, unions usually must first organize a large proportion of the product market and then successfully maintain union coverage over time—a tall order. 
In order to participate in centralized bargaining local union officials or managers have to give up some of their independent authority and conform to centralized decisions and leaders. Another factor that influences the emergence of centralized bargaining structures is the extent of diversity in the objectives across local actors and the degree to which there are traditions that generate organizational loyalty. Union leaders’ opposition to consolidated bargaining units or to formal union mergers acts as an additional constraint on the centralization of negotiations. 
From the 1980s on a number of bargaining units underwent decentralization in their structure. Over the previous 20 years the number of firms in the coal and trucking industries declined substantially. Furthermore, there were major declines in the number of workers covered by multiemployer or industrywide contracts in these industries. Some of the decentralization in bargaining structures has been induced by public policies. By far the most significant effects of government policy on bargaining structures have come in recent years from the deregulation of product markets in trucking, airlines, and communications. The effect of deregulation has been to open the industry to new entrants that start on a nonunion basis, pay wages and benefits below the unionized rates in the industry, and, in turn, put pressures on unionized firms to seek labor contract terms in ways that will meet the new competitors. 
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[QUESTION]

55. Under what conditions would a union have more bargaining power with company-by-company bargaining as compared to bargaining with a multi-employer association?

Suggested Answer:

Employees (or unions) may find it advantageous in some situations to bargain in a more decentralized manner and thereby maintain plant-level or company-level bargaining. This might occur when employers in the local service industries (such as hotels, restaurants, laundries, and local truck haulers) form associations and bargain in multiemployer units. Employers can whipsaw a union when they gain a power advantage. Company-by-company bargaining allows for significant variations across the agreements. This includes variations in wages, fringe benefits, profit sharing, work rules, and the extent of employee participation in management decision making. The transformation of the bargaining structure in the steel industry is an illustration. 
Pages: 180-187

Difficulty: Medium

Intro to Collective Bargaining and Industrial Relations, 4e
Katz

